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PHILOSOPHY (General)
FIRST PAPER
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s 1 2 hours Full Marks : 50

. The figures in the margin indicate full marks.

SECTION—I

gwer any one question : 20

11. “The Soul is the body with the attribute of
* Explain this view of Carvakas.

consciousness.’
16+4=20

Is this view satisfactory?
2. Explain and examine  the  theory of
(Ksar_labhar'igava‘lda] according to

momentariness

Buddhism. 20

Explain the Jaina theory of Self, Bondage and

Liberation. 20
( Turn Qver )
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(2) | L

SECTION—II m ) What is the

: ‘Ii 4 thakrlyakarltva
y two questions : 104 &

rite a note on Carvaka ethics.
:HEXPIain the Jaina theory of Substance.

State and explain the Eightfold Path (Astanglk
marga) admitted in Buddhism.

Explain four Purusarthas of Indian philosophy.

Carvakas accept testimony as af |
rce of valid knowledge?

' 'What is Anekantavada?
- What is called Prama?
What is Pudgala?

Carvaka philosophy called

( Continuedyir7 /291

of
to

literal ~ meaning
according

YL+ 8=30
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PHILOSOPHY (General)

soliplas sdl BECOND PAPER

New Syllabus )

Full Marks : 50

e full marks.

20

31 im as a theory of the origin

wledge. Is this theory satisfactory to
14+6=20

1e advocate of the regulatory theory
ity? Explain the theory in detail. Is it
factory theory? 2+12+6=20

% be is to be perceived.” How does Berkeley
, blish this conclusion? How far is
Berkeley justified in introducing God?
1 Discuss. 12+8=20

/292 ( Turn Over )
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Wh gl i
| 0 :ald, 1 think, therefore I am”'
ergo sum)? Is he a rati i
Brec ional
rmst? ist or

il secTioN—II

il Answer any two questions : 10%2=24

I 4. How does Locke rc_j;%t? the existence of artesian dualism?

innate ideas? Explain.

elf or Mind according to

5. Explain parallelism regarding the relation

petween mind and body- | i
' o F\{.'.ERSION |

6. Explain Hume'’s View of the distinction

between impression and idea.

7. What i8 ‘pggular_ _x,g%glig_m? What are its o
defects? e _ 73
8 | |2 Teqw
SECTION—IIT LA
8. An s a7 fafioscs &
: swer any five questions : . N
"y =30
a) What is ‘monad’? ol '
(@) e o Frare
(p) What is scepticism? ! y qfred (el
S3+br=30

(c) ~What, is epistqmology?
(d) What is the meaning of ‘tabula rasa’?

m‘ﬂ@:
. yOox3=30

(e) What is gsecondary quality?

{ SEETS qEE g 49T AR 7 M

() What is interacti_oﬂism?‘
o

.memw%ﬁmwwwl S0

idealism and §

".‘ (g) Distinguish betweerl
realism.
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g ' é- TION—1
I 20

tion? Explain it as a
il psychology. 5+15=20

at are the factors of

mality a product of

ment or of both?
3+7+10=20

fiscuss James-Lange theory of
20
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‘ %l}'l‘-‘ bl , o

i SECTION—-II 7.

\ ‘ B~ perceive movement?

b Answer any two questions : 10%2= :
th Ve factors involved in

4. Explain briefly Weber-Fechner law of

sensation. ‘

4

5. What is attention? Explain its nature. 2+8
: form of IQ?

;7 mental age and

6. Discuss Freud’s theory of dream. Is it
8+2

satisfactory?

| 7. What is unconscious? What are the proofs
I\ for the existence of unconscious mind? )

2+8

30

secTioNn—IIT

8. Answer any five questions :

(a) What is stimulus?

g Terma § R2 wfes B

{p) What is illusion?
™ SR TSI BRI B2 9+q+d0=30

() What is emotion?

(d) What is forgetting? b
e conpT-amreers e
@ or W P11 R0

(e) What is hallucination?
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IRTH PAPER
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Full Marks : 50

e margin indicate full marks.

SECTION—I

" How, according to Nyaya,

shed? Discuss. 6+14=20

roofs for the existence of Purusa

hya? Is Purusa one or many?
14+6=20

{ Turn Over )




(2)

3. What is Abhava 7 What ar¢ its different forms,

according to Vaiéesikas? Explain each of them.

4+4+1%

secTIoN—1I
Answer any two questions *

4. Explain Vaiesika concept of Samanya.

5, What, according to Naiyayikas, 18 the difference
between Nirvikalpaka and Savikalpaks
Ppratyaksa? ;

Give an account of Guna as Padartha according t
Vaisesika. How does it differ from the Sarmkhys
concept of Guna? 84

. Explain the Sarmkhya theory of evolution.

SECTION-——HI

Answer any five questions with brief justiﬂcati

if necessary :
(a) Whatis Paksadharmatﬁ—jﬁa‘na ?

(b) Point out the paksa, sadhya and hetu of
infercnce——Ghatab anitya krtakatvat.
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" leacher. He is

B II (Three Year G)
Under 1+1+1 System

lo : Western )

| New Syllabus )

Full Marks :

' margin indicate full marks.

import of propositions?

d forms of -categorical

Ave existential import? Explain
4+16=20

8 the validity or invalidity of
Ving arguments by truth table :
5+5=10

L
eér Ramesh is a doctor or a

not a doctor;
therefore, he is a teacher.
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() Use truth table to determine the .
following statement forms as tautology, - SECTION—III
self-contradictory or contingent : 5+§ E
() p>lp>@ -~ : 2x5=10
i) p>(p2p) | e syllogism?
_ 1€ functi :
3. What is hypothesis? What are the criteria fo! on of copula in a
evaluating hypothesis? Discuss. 4+1
) senses of ‘or’?
SECTION—II ; 1 of ‘A’ by limitation?

Answer any two questions : 100 of terms?

4. What is inference? Distinguish betweel
mediate and immediate inference. 24

tiifferent types of

What is obversion? What are the rules ¢
obversion? Obvert the following : 2+4
(a) Only children are happy.

(b) Some Indians are poet. in
Translate the following arguments

o rdl form and determine the validity}
means of Venn diagram : :

(@@ OAO—3rd figure.
(b)) Ram is mortal, because he is a man

Explain the traditional square of opposit
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* kK SECTION—I

il the following questions :

® proup? What are its different
inl the nature of primary group.
' 4+4+12
ality? Explain in brief different
ty. Explain its necessity and

social structure. 4+6+10

ism. What are its defects?
ature of scientific socialism.

4+6+10
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SECTION—-II

Answer any two of the following questions : 10%2

4.
5.

6.

7.

Explain the characteristics of caste system.

Bring out the basic differences betweern
culture and civilization.

community-

«gociety is the web of social relationship.
Explain this statement after Maclver and
Page. !

‘secTioN—III

Answer any five of the following questions :

(@) What is social philosophy? |

(p) How can you distinguish betweet
association and institution?

(c) «Religion is the opium of the people;
Who said this and why? :

(@) Whatare the characteristics of custom
(e) What is meant by cultural lag?
() Define democracy-

(9) What is the difference between. SO it
philosophy and philosophy?

(h What is justice?
@ Is family an association?

() What is moral code?

MR7/379
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B 1III (Three Year G)
Under 1+1+1 System

2017

IILOSOPHY (General)

" SEVENTH PAPER

pvised New Syllabus )

Full Marks : 100

| the margin indicate full marks.
hy

ﬁ',‘
~ SECTION—I
if the following questions :  20x3-60

between moral and non-moral

li of these actions constitutes the

ol ethics? Discuss. 12+8=20

ine the Niskama Karma as

20

good in itself.”’ Elucidate. Why does

moral law as a categorical

10+10=20

mean by Euthanasia? Distinguish

lry, involuntary and non-voluntary

4+16=20
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( 2)

S ECTION-——
main principles for deep ecological ethics? CTION—I -,

Discuss. 6+14 fen of the following questions (with

; | lon, wherever necessary) :  2x10=20
Explain and examine Gandhi’s concept of Ahirhsa il 1y ethics? ‘

or non-violence.
you mean by postulates of

SECTION—II

Answer any two of the following questions ; 108
| u mean by discrimination on the
7. What is motive? Distinguish between motive an ok |

intention. 2+

What is the discrimination on the basis @
religion? Can discrimination on the basis @
religion be supported from ethical standpoint

Discuss. .

Write a note on reformative  theory
punishment. by right?

~ 88" death killin ici

e O % 1 \ o

What is suicide? Is suicide morally acceptabls . &OrsUcies)

Discuss. dgraha according to Gandhi?

uality?
What are the arguments in favour of hum

rights? Discuss. mean by ‘greenhouse effect’?

L q y truj t‘ ici
/ mean by altruistic suicide?
{ Turn Over )
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B I (Three Year n
Under 1+1+1 System

L SOPHY (Honours)
- FIRST PAPER
of Indian f‘hilosophy )
ed New Syllabus )
-F‘ull Marks - 190
= i lthe margin indicate fi,j marks. A
- SECTION—]

W0 of the following : 20x2=49

L Wyapti according to  the
i How do they establish
6+14=20

ed  Padartha according to
at are the different types
admitted by them? Discuss
Visesa. Is there any relation
@ and Samavaya? Explain.
3+3+10+4=20




(2)

What are the major arguments in favo ]
of the Buddhists Nairatmavada (no-Soul
theory)? How do they explain rebirth an
memory? Discuss. 144

Give a critical exposition of Jain
Syadvada. Does it lead to scepticism
Discuss. ' 14

What is Prakrti according to Samkhys
What are the proofs for the existence
Prakrti? Explain the nature of thi
constituents of Prakrti. 44 1€

SECTION—II

Answer any four of the following : 1

{a)
(b)

(c)
{(d)
(e)

()

MR7/68

Explain the Nyaya view on Self (Atma

Define Yogyanupalabdhi according to:';
Bhatta Mimarsakas.. ‘

Explain the nature of Jiva after Raman

Explain the Nyaya concept of Apava

How dees Samkara distinguish bety
Brahman and I$vara? |

Explain the importance of Yama,
and Prandyama in the Yoga philosopk

(@

- explain the Eight-fold Path
marga) admitted in Buddhism.

hilosophy pessimistic? Discuss.

SECTION—III

y len of the following with brief

er ;
€ver necessary : 2x10=20

W called Triratna according to the

?the term Astika mean in Indian

Galled Pratyabhijsiz

10guna according to Sarhkhya.

@8 the term Adrsta mean?

of Sannikarsa is essential to

- #bsence according to Nyaya?

4 admit causal relation?

( Turn Over )




( 4) Bl (Three Year H] |

Under 1+1+1 System
Distinguish . between Upamana .

Upamiti.”

f12017

What is Arthapatti?

] . . 1". = -.
Why '1s Pratyz;k_sa called the eldest amo : 05 OPHY (Honours)
the Pramanas ! ] i

What type of Alaukika Sannikarsa remain'
in the following case?
Ice looks cold.

Why is Samkara’s philosophy calle%

: Full Marks : 100
Advaita?

e margin indicate full marks.

m? Give a brief account of
tarianism. Is Mill’s view an
i Bentham’s theory? Discuss.

P 4+10+6=20

the Jaina Ethics. 20

MR7—3580/68 el




What are the distinction between moral and
" pon-moral actions? Which of these actions

constitute the subject matter of ethics and why ?
Explain the different types of non-moral

actions.
meant by paradox of hedonism?

SECTION—II

Answer any two of the following : 6 18 Knowledge.” Who said this and

(a) Explain and examine  the rcformativf
theory of punishment.

Explain briefly the concept. of Nishkami actions an object of Iﬂoral'
Karma as propounded in the Gita.

Is there any strict distinction between end

and means in Gandhian ethics? . .
distributive justice?

Explain and examine the theory |
naturalism and emotivism about the natul
of moral judgement. ipital punishment?

SECTION—III

characteristics'of Sthi j
itaprajna?
Answer any five of the following with bl , prajna‘

justification, wherever necessary :

(a) What is virtue ethics? : Vb ition of ethics after William

(b) What is normative science?

MR7/69
{ Turn Over )
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GROUP—B

i lructure and cha i
( Logic : Part—A ) racteristics of

; 10
SECTION—I : the validity or invalidity of the
Answer any one of the following : | syllogistic rules : 5x2-10
M is S. So, some § is P, since
6. What is material implication? What are t ¥ P is not M.
different forms of material implication? Explail )
) 1ows his own son: so h
with examples, the two forms of paradoxes O ¢ € must

material implication. 4+6+]

Construct the formal proof of validity of
following : 5

(i) wWoX
Y= X
L (WvY)D X
(x)(Cx D Vx)
(@x) (Hx: Cx)
.. (3x) (Hx-Vx)

(x) (Hx D~Px) : ! 'table to determine the
| invalidity of the following

(x) (Gx D Hx)
s (x) (PxD ~ Gx)
(iv) None but the brave deserve the fair. ' $rOp

soldiers are brave. Therefore, the fair .
deserved only by soldiers (Dx, Bx, Sx). e © illicit minor and

10
MR7 /69
( Turn Over )




(6)

(c) Prove the ﬁnvalidity of the following :
(i) (Ex) (Ax-Bx)
@x) (Cx-Bx)/ . x)(GxD~ Ax)

(ii) Some physicians are quacks. SO r

quacks  are not  responsibl
Therefore, some physicians are 1
responsible (Px, Qx, Rx).

(d) What is an enthymeme? What are t
different  orders of enthymeme
syllogistic argument?

gecTION—III
Answer any five of the following :

(a) What is singular proposition?

(b) What do you mean by opposition
proposition?

(c) What is the distinction between cont!
and complementary term? ‘

(d) Distinguish between ‘mood’ and ‘ﬁgur
(e) What do you mean by existential fallag

(f) What is class?

between  exclusive and
ses of ‘or’.

between mediate

and
inference.

you mean by universal

you mean by the distribution of




B II (Three Year H)
Under 1+1+1 System

Full Marks : 100

I

margin indicate full marks.

rine of Ideas or Forms ag
ito, How does Aristotle
rine of Ideas? Dg you
Criticism is Jjustified?
10+6+4=20

® ontological argument
God as formulated by
this connection the

il this argument. | 14+6=20

{ Turn Over )
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3. Explain Locke’s definition of knowledg

.Discuss different forms of knowled;
recognized by Locke. Do you consider Locke
view on knowledge consistent with ;

" empiricism? 5+1

Explain Hume’s theory of cons 't
conjunction. Do you support this view?
| : 14

What does Kant mean by ‘categori
Explain Kant’s theory about the category
causality.

SECTION—II

6. Answer any four of the following :
(@) Why, according to Plato, knowled g
not perception?
Explain brieﬂy Aristotle’s doctrine

four-fold causes.

Explain Descartes’ method of philosg
and bring out its importance. :

Explain, after Spinoza, parallelism |
theory of mind-body relation. -

How does Leibniz make a distin
between ‘truths of fact’ and ‘tru
reason’? ‘

MR7/125

ifiction tenable?

- Berkeley refute Locke’s

between  primary  and
ualities? 10

complex ideas

fo
to Locke? el

10

A Kant make a distinction
eénomena’ and ‘noumena’? Is

8+2=10

. BECTION—III

of the following with brief
Brever necessary : 2x10=20

® name of three dialogue.s of

‘ mean by world-soul?

ite mover himself move?

rion of truth accordiﬁg

ideas?

‘attribute’ according to

{ Turn Over )
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What is monism? Was Spinoza
monist?

Are monads material or spiritual?

What do you mean by scientific realism?

Why is Berkeley’s idealism calle
subjective? ‘

. “Every idea is a copy of an impression.

Who says this' and why?

What is the meaning of ‘critique’ il
Kantian context?

Who aroused Kant from ‘dogmati
slumber’? ;
What are ‘the marks of a pri J
knowledge? 4

MR7—3600/125

B II (Three Year H)
Under 1+1+1 System

New Syllabus )

Full Marks : 100
margin indicate full marks.

the following :

CNF? Transform the
tement into CNF : 1+4=5

4:~ql>p

INF? Transform the
", into DNF : i+4=5

)val ~q

statements into
5+5=10

( Turn Over )
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Explain Mill’s method of concomi ';
yariation with examples. In what sense is &
antitati

method important a8 the first qu
method of inductive inference?

(@ () Whatis the probability of get

tails everytime in three tosses ol

coin?

(i) What is the probability of gett

9 in throwing 2 dies at &

time?’

(b) Distinguish between scientific

unscientific explanation.

SECTIO N—II

Answer any two of the following :

(@) Test the validity or i
following arguments
truth tree method :

(i) 1A- (B = C)]
nle
e

(1) Bo@A—B)
.'.A-—-)(B-—>C]

MR7/126

method of ‘reductio ad
5+5=10

ieant by Crucial Experiment?

10

ON—III

following with brief
' necessary 2x5=10

ing into statement :

\e8is?

method of

( Turn Over )
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How would you define decision

procedure?

What is the necessary‘ condition of a:

cause?

What do you mean by inductive
generalization? j

Give a symbolic definition of the method
of residues.

GROUP—B
( Philosophy of Religion )

SECTION—I

6. Answer any one of the following :

(@)

MR7/126

Explain and examine the mainl
anthropological theories of origin ©
religion.

Discuss critically the ontological 'pro
for the existence of God with referenc
to Anselm and Descartes.

What is the main thesis of Buddhism
Why is Buddhism regarded as universe

religion? 14+

{ the following : 10x2=20

between religion and
_ of religion. In what sense
of religion is a second order

7+3=10

‘the concept of Totemism as the
and most primitive form of

10

@ritical estimate of what John

the prepositional view of
10

the concept of religion with

166 Lo Marx and Bible. 10

octrine of Trinity?

lween two kinds of love

( Turn Over )
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What is the difference between religiotd
and morality? i

What is mana?

What is religion according
Rabindranath?

What are the five pillars of Islam?

religion?

#
Full Marks : 100

n indicate full marks.
N—I
20x2=40

Vyipti as given in the

f bhilyodarsana, tarka

pratyaksa in  the
8+12=20

* definition of cause

a). Discuss the

ed in the definition

een Karapa and
5+410+5=-20

various forms with
her gauni can be
3+9+8=20

( Turn Over )
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State the - definition of pratyaksa as given 1
Tarkasamgraha. What is meant by nirvikalpaki
jiiana? Distinguish betweert savikalpaka an
nirvikalpaka jiiana. What is the evidence for r
postulation of nirvikalpaka jiiana? 4+5+57

. What is meant by anuvyavasaya? Is the validi
of cognition known: by its anuvyavasayé
Disc%ss following the view of Annambhatta.

- <

secTION—II

Answer any four of the following 16

(a) Define Smrti, following Tarkasamgra
Mention the significance of each term
the definition. Is smrti a prama? Discuss

What are the different

cognition? State and

following Dipika.

What is meant bY Gakti? How G
Annambhatta explain the cognition
&akti in Dipika?

(d) How does Annambbhatta explain "
perccption of distant sound? Di'
following Dipika- | !

MR7/221 ( Co

Annarbhatta, the
{ti as a means of valid
10

‘ &l‘l by kevalavyatireki

Annarnbhatta resolve the
in this context in the

4+6=10

| the different types of

o Tarkasarmhgraha. - 10

wcies committed in the

jamy nts with brief

21/2"4:10

for it has
¢, because it is 2

dravyatvat jalavat.

1 2x10=20
ha hetvabhasa.

i
commit the fallacy

( Turn Over )




(c) Define samavayl karana with examples. z

(4)

(d) What is upfidhi‘? Give an e;xample.

(e) What are the different types of abhd '

(f

Give examples of any tWO of them.

What is meant by anyathésiddhi in case

a cause?

‘Gha;ﬁbhﬁvavad phitalam’ |
Mention the vitesya and viéesapa in
above case. |
What is buddhi? What are its differ
kinds? j 1

What is meant by linga?

) Define vyapara according 10 the pra

naiydyikas. :
Give an example of sapaksa hetu.

State the anuyogin and praﬁyogin m
of patabhava. ‘

state the five conditions (vakya)
paﬁcﬁvayavi nydya. : :

What is meant by atidcéavikya? ,

Does Annarbhatta accept yyaiijand |
separate vriti ? :

* K Kk

MR7—3310/221

B Il (Three Year H)

E : Under 1+1+1 System

HY (Honours)

i PAPER

osophy )
Syllabus )

Full Marks : 100

d as ‘representative’?
gue between ‘Naive
ve Realism’? g+4+8=20

 designation?

" 10+2+5+3=20

( Turn Over )
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(a) What is knowledge?

(b) What are the different senses of the t
‘knowledge’? ‘

(c) ‘s true belief knowledge?

(d) Explain different conditions
propositional knowledge. - 343

Explain Plato’s theory of universal. Disi
critically his ‘Archetype and Participation ¥
regarding the relation between universals;
particulars. i

Distinguish between ‘necessary =
conditions. Is cause a necessary conditio 1
sufficient condition or both? Discuss

Hospers.

secTioN—II
Answer any four of the following :
(a) How is a word related to its mcanin

(b) What is ambiguity of words?
following Hospers.

(c) Write a short note on astensive ;
and persuasive definition.

MR7/222

gen strong and weak

i§ rationalistic view of

he following with brief

i Bccssary 2 2X10=20

sign and symbol.

yeen sense-data and

day is the cause of

( Turn Over )
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Are mathematical propositions synthetic?

“] have a headache.” Is it inne

subjectively verifiable?

What is logical possibility?

“The number 7 died yesterday.”’ Is t;

sentence meaningful?
Is the causal principle a posteriori?

What is ‘knowing by acquaintance’?

In what sense is meaning used in t

sentence— ‘Subtraction of 5 from
means 57’7

What is conventional sign?

# ok K

MR7—3310/222

Il (Three Year H)

ionours)

PER

Al Philosophy )

: -"’-' Syllabus )

Full Marks : 100

i indicate full marks.

p? What are thé

4+6+f0=20

( Turn Over )
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4. What is environmental ethics? Explain its origl

and development in recent time. 54

5. What is meant by suicide? What are its diffcr

types? Is suicide morally acceptable? Justify yot

answer with suitable arguments. 4+6+

SECTION—II

Answer any four of the following :
(2) E){plain the nature of good life according

Frankena.

Explain - the concept of humam'smrj
conched by Rabindranath.

Explain  the contnbutlon of
Wollstonecraft in the history of femxmsf‘

Explain the nature of practical ethics. 1

Explain the relation between justice

equality.

Is there any distinction between active
passive euthanasia? Answer following |

Singer.

MR7/223 ' ( Co

of marriage in

étheless permissible.”

2x10=20

senhouse effect?

medical ethics?

( Turn Over )
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(j) What is meant byAinﬂgt‘oup?

(k) What is racial discrimination?

a. What is liberty? '

( m) What is justice frorh economic point of viel?

(n) When was the Universal Dcclaration"
Human Rights declared? '

(o) What is business ethics?

MR7—3310/223

III (Three Year H)
der 1+1+1 System

(Honours)

H sPAPER

Syllabus )

Full Marks : 100

17 Explain Husserl’s

hologism.
5+15=20

smenological method
.20

20
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(2)

(d) What does Kierkegaard mean |
‘objectivity’ and ‘subjectivity’? Explain h
view that ‘Subjectivity is truth’. '
Explain Kierkegaard’s notion of freedot

How does Kierkegaard criticize the Hegeli
idea of freedom? i

SECTION—II - . f' Bnological intuition?
2. Answer any four of the following :

(a) Discuss Husserl’s concept of philosophy a Uction’?
rigorous science.

ntal ego’?

(b) Write a note on the concept of ‘epoche’
.- Ok, Idea?

o=

fc) Write a note on Heidegger's concept & ;
: dbelieve in the existence of

‘Dasein’.
(d} What, according to Kierkegaard, are | .
three stages in the life of man? Explain, BEing-in-itself?

(e) Explain Sartre’s concept of consciousnel omenology?

(f) State briefly Heidegger’s views on auth: ,E;IHusserI indebted to

and inauthentic existence.

{g) State briefly Husserl's thesis al By regarded as a
intentionality of consciousness. i .

(h) Explain Sartre’s concept of freedom.

MR7/224 - ( Co
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GROUP—B
( PROBLEMS OF PHILOSOPHY )

SECTION—I

1. Answer any two of the following :

; (a) Explain, after Russell, three conditio:

which a theory of truth must fulfill. Is Russe
correct in laying down all these conditiont
Discuss. :

What do you understand by general princi.:'
of induction? Can the principles of inductf;
be established by observation? Explain.

Distinguish between Universal and Particu
.~ after Russell. How are they related?

Distinguish ~ between  ‘knowledge
acquaintance and knowledge by descripti
after Russell. Explain the fundamel
reason why Russell feels the need
introduce the distinction while critick
idealism,

What is intuitive knowledge accordin
Russell? What are the grounds for belig
in intuitive knowledge? Discuss follol
Russell. |

MR7 /224

Tollowing :

_‘ cal object according to
i briefly,

mean by ‘psychological
11,

say about the limits of .
Howledge?

em of Universal? Explain.

"en sensation and sense
gll,

. y that what we, directly
ely appearance?

dence  theory  as

i by introspection?

ophy is inductive
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(c) Give examples of unjversals as ‘sensibl
qualities’. y

(d) What Kkind of entity s necessary for a prid
knowledge 1n Russell’s view?

(e) Is knowledge by acquaintance more certd
than knowledge by description? "

(f) 1Is inductive principle incapable of pr'
according to Russell?

(g) Is idealism based on theory of ]Lcnowh’-:'1
according o Russell? :

(h) What i realism in respect of univcrsal‘?i

() s it logically possible © suppose thal

world is a dream?

How is the truth or falsity of mer
ascertained?

(k) What is 2 prioti knowledge: according
Russell?

(1) What is sense data?

MR7 /224
( Turn Over )
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GROUP—C

( PHILOSOPHY OF LOGIC)

, the word
SECTION—I | R o o o

1. Answer any two of the following : 10

ne the traditional system

(a) How does Strawson criticize the definiti
' ysitions. 10

of Logic as the study of the principles
deductive reasoning? What alternat i by ‘truth-functional
definition does he suggest? | i1, in brief, the role of truth

' A in truth-functi i
Explain the logical ideal of system and . opal log;:.
effects. Explicate in this regard the met : +8=10

of systematization. i teud material implication

‘ot both ... and not ...".
Define implication and inference. Disting ' 10
between the two. Ex lain and illustrate
e i e e i {lie concept of existential
plicative and implicative principles y i

inference. . 44
; ' , the nature and

Explain critically the orthodox criticisl i " 10
the traditional logical system after Stra ;- R it (dot),

_ " distorti i
Explain the standard use of the i of the

relation’. Explain, with example, the v
kinds of relation after Strawson.

MR7 /224 ( '
/ : . ' ( Turn Over )




3, Answer any ten of the following Withs

( 10 )

gecTIoN—1I

justiﬁcation wherever necessary .

(a)
(b
(c)

What are the tWo kinds of logic?

What is a fact?

What is singular statement?

Is truth table a decision proccdurc‘? !

What is existential import?

Distinguish between truth and validity

What are the two principles of induc §

What is 2 variable?

What is @ formula?

Why is the conclusion of an induction §

be possible? ‘

What is the logical meaning of the © y
word ‘some’?

What are the laws of thought?
What is ‘truth function’?

What is law of uniformity of nature?

lowing : 20x2=40

of private ostensive

Wittgenstein criticize

10+10=20

sffer, the compromise
on and third person
gss, Is this solution

Distinguish between
{ym and metaphysical
tate the difficulties of

il person account of

54+5+10=20

of epiphenomena-
s of epiphenomena-
12+8=20

altempt to explain
of conscionsness?

1 te merits. 12+8=20

( Tum Over )
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SECTION—II
2. Answer any four of the following :

(a) Explain the nature of the philosophy of.

and its relation to psychology. .
: idea of Soul?

(b) Discuss the double aspect theory of mi

theorists accept
(c) Write a short note on dualism.

(d) Write a note on the contexual accoz_
actions.

Give reasons,

_L mental expression?
(¢) Explain briefly the agent theory of act ‘

(1)

consciousness after Brentano.

(g) Write a note on parapsychol Ol according to
phenomena.

Write a note on Strawson’s person the
consciousness.

SECTION—III

3. Answer any tem of the following with
justification wherever necessary : :

account of consciousness.

(b) What does unintelligibility theory say

MR7 /224
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GROUP—E
( VEDANTASARA ) ble to‘ the
uss, 10
SECTION—I
Answer any two of the following :

(a) Explain the importance of the se 1
Aharn Brahmasmi according to Sadanat

(b) Write an exhaustive note on|
philosophical implication of
Mahavakya—Tat tvam asi accordig
Vedantasara. "

(c) What are the four types of Anubg
according to Sadananda Yogindra? Disy

(d) Explain the Advaita concept of Apava

4

(e) What are the characteristic featur
Ajnana? Is it one or many? Discuss, |

SECTION—II
2. Answer any four of the foliowing :
{a) Distinguish between Citta and Ahamkj

(b) What are the five types of .
(Paficavayu)? What are their fung
Discuss. :

MR7/224
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( 16 )

What is called Susupti?

What are the Niyamas?‘

What is called Samadhi?

Mention the four types of Sadhana.
(i) What is Avastu in Advaita Vedanta?
(j) What is the definition of Upakrama? |
(k) What is called Titiksa?
(I) What is Sraddha?

(m) What is Jaana?

(n) What are the different par_ﬁ
Siiksmasarira? '

(o) What is the subject matter of Vedanté

. MR7—3310/224




